T4 FERERENEHR

B R EAEE

AIERER (1 Gy /91 H)
Ak
=2 % 1-mFH % 2-mFH 55 3- 55 4-
(4B158~7RA158) (7HB15H~10 A 14 H) ( A B~ A 8 ( A B~ A 8
1 110 =+ 20 113 =+ 2.1 + +
2 98 + 1.2 100 + 06 + +
3 103 =+ 1.2 105 =+ 06 + +
4 112 = 16 116 =+ 06 + +
5 103 £ 06 105 =+ 1.0 + +
6 100 =+ 2.1 102 =+ 1.0 + +
b 55 B 47 £ 05 47 + 04 + +
(4RA12B8~7H228) (7R 12B~10 A 20 A) (A B~ A B ( AR B~ A B

E) 1 RAUPEYBRAASARES SEEZELHE (W3 AR INMFEICREL. BEREZTREL=,
BERREIBRAUNETLREMEDTHBEEL ., REFFEREERL
HBERBEFERRILLIF—AOFEREZRELS-OICHANSRBREL 6 BEAERN Tt
VE—DBHNITREL. AHRICEEREZHEL . B, ERAULORERZRNSLLEEOD
BIERREBLDHIEFLTLVELY,




